bl.

52.

Addal247

PART - B
Who is the present speaker of Tamil Nadu?
a P Dhanapal {B} M. Appa:
() D.Jayd Kumar (D) R,Aw
piHCunesL Hbps sunpmust W7 |
oy P panund (B) M.. it _

{CJ D ﬂwu&@mnﬂ'

Ma
(a) October 2
(b) September 5
(¢) August 15
(d) January 26

@ ®
(A) 4 3
(B) 3 4
(€ 1

(D) 4
qu“ﬂlﬁﬁ:

(a) :i'lﬁmuﬁ 2
(b) Q@sii_bui b
() acv 15 *
(d) geeaul 26

{:] b (©
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T

Sound waves produced by —

— are examples for ultrasonic waves,

(A) Man

; (B) Lion

( i

(C) Bat (D) Deer

—— YDuUBED Gdl@aar 159'4"’531&{5 SRS ERTC LN SamaniD.
(A) wellgen (B) #&risn

(C) Qeusreund (D) wnen

The total ——— of a path taken by an object to reach one place from
another place is called distance.

(A) Pressure (B) Mass
(C) Length (D) Force

unengulehn Cliomgs — Haneeay nmﬂﬁ@%. es & DisEe

(A)  SissD (B) flenm
(C) ferbd (D) <fes

Food should not be purchased beyond the date of

(A) Selling price (B) Marketing
(C) Date of Expiry (D) Printed label

e emeyl Qunmasanar siaupflen ———— Csf) aprhs Bealld anbss
Sl Mg

(A)  eflpusnen ellena (B) &ARCwnfssd
(C) ananeudl mmer (D) EHMSEH

Night Blindness is caused by lack of Vitamin

(A) A (B) B
(C) C (D) D
wienesssn oMl eaul L Lblen @enpuriL e ghu@Eng.
(A) A (B) B
(&) e (D) D

DJRE24
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57.

58.

59.

G0.

rime?
Whml-anfth : P i 15 ; o
Ay 81,218 Do
() 51,61 o
GenaumHDd @mw&nﬂdﬂ. creneu ENTUST ﬂa‘um*d?

() 81,27 2

e following pairs is Co-

The Supplementary an gle of 70° 18

(&) 20°
(C) 290°

70°-ar Bevs Prcys Cand

(A) 20°
(C) 280°

Evaluate sinZ45+cos® 45

mﬂuuﬁgnmua Eu§45+ 245

{C}.. ﬁ b D) 3 f

2

The value of p in the equation ?—E= 10 is
; :

(&) p=12
©) p=40

B) p=10
(D) p=15

14



SN a5

61, A dozen bananas costs Rs. 60. What 1s the price of 30 bananas?
(A) 180 (B) 150
A (D) 160

@ Lsan aunepliLpiisden dima m. 60 aafld 30 arepll Lpisean
chlena) eTemes 7

g L EREE e
@ 180 © a0 e 155
&
(C) 130 (D) 160
62. The perimeter of an equilateral triangle is 24 cm, then the area is
(A) 1643 cm? (B) 2443 em®
() 12J3cm? (D) 3243em?
G swuss ualaremsden appera 24 Qs.d. aaficy sigen LrLILIaTe £\
(A) 1643 cm® (B) 2443 cm* % at
0y = Ay
(C) 1243cm* (D) 32+/3cm® e
a9y
@ When a die is rolled, the probability of getting a prime number is
L - Y A S h i 5} n
T
9 1
'- (VR ) s -
| : oM: 220
2 D) —
© = s

@ Lsen o U LOUEBGUNE, UaT e AL iushsnen  Hlapaseal
|

. \ ) €3 @ '€
(A) 2 (B) % (L (Q} pj“ ¢33
3 e = @?@’
= 73 ) -1 6, @& B
o @& > @ 19 @ . @ L
6 93 e L R BB FL et 0 6& 5y &Y 5O
R
VL S S e 2N

| N o o Sy ¥ 5%



db
ition of a political Party is accorded by
64, Recogni " e o

(A) The Election Com an -
(€) The Supreme Court ittee

oipélué sCsses subsagl pientoLiL] F

(B) @auirah s
A) Ggr @ spEnaLD o
G o D) 86 G®

(C) oé& ﬁﬁmmm;b
5. Who is the Finance Minister to present 7 cnnséeuﬁme;ﬂ%é
(A) P. Chidambaram

(B) Nirmala Sitharaman

(C) Manmohan Singh

(D) Moraji Desai

Qaning 7 gpep LEHL u-ﬂgd@i“mm psed Qo
OEi=n  ® preer
(C) wenGurssn fn : i

66. Who uses the Photoshop softwar
(A) Teacher
©) Paifiter ®) Photogre
GunGLmagn Qmmﬁu:rmwfm '%'lﬂﬂ?; et
(&) ‘mAfufaer
(C) euamemd SigliLcuissT

67. India International Science Festival 2024 was held at
(A) Uttar Pradesh (By Madhya

(C) Punjab (D) Haryana
@@m sieuGss o lafliud eflipn 2024 &T mml_ﬂuﬁ:.mgm
{(g; 2 6510 ErCaan (B) waduwi lﬁhjﬂ' J
L) Lighe i
C) ugpenc (D) amflwmenm

g 16
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69,

70,

e =18 the smallest particle of an element,
(A) atom

(B) molecule
(C) mole

(D) mass
o0 seflogfen Bss Al ued SEb.
(B) - s (B) ppadseg
(C) Cuomé D) Beop

is produced when an object is set to vibrate,

(A) Light (B) Heat

(C) Sound (D) Measurement

@ Qunmer eiflitess el LREsLCUIE —— o mandns.
(A) Geousflésn (B) Qsuliuib

(C) el (D) siareiiwuid

is a process of removing impurities from water to make it

potable.
(A) Reverse Osmosis (RO) (B) Sieving
{C) Filtration () Winnowing

. gap gepld, Ao edaa  wressdr  SEsOUCE. B
sgdaflsaiu@sng.

(A)  edit scugy® Lyeud (RO) (B) scilgmed

(C) eugsBpd (D) Znpmisd

In India, —— circuits of potential 220/230 YV is supplied.
(A) Domestic (B) Offices

(C) Department of Education (D) Streets

@pPunellds ———— Ber somsaia 2201230  Gamdl ddaeangsso
S@UULUHEDE.

(A) SLpéEiu (B) sigsuasmsaiida e dmer

(C) wenafls &@ﬂiﬁ@mmuﬁlm £ &er (D) Qsméseile o drar

17 DJRE24
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(A) Q@ﬂuﬁﬂf f
®) d‘lm‘;ﬂu I'I'I_'.EI

b
73. Where did the U.S. drop its first atumm

(A) Hiroshima
(C) Nagasaki
SQuissT 5T5 (P50 HEEHE
(A) afiGyrefion
(C) mnssndl

______

74,  Why was Manchester considered ideal fc q
(A) amﬂahﬂlt;_,r,uf-.lami‘_;

(B) rich human resources -
(C) better living condition

(D) cool climate
wrerGlacuL i BETD e gayef gﬂmuﬁﬂ% o 1315({ :
(A)  fab feés Guppenio

€ poo anpsms gpo
D) @efrefunen g1 Qautiuflenay

18
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21 years is equal to -

\ *’.-"'Il.'
- months, )
Uﬁ . /6{
g

‘,-’l\} :_Ell‘.‘.. ﬂ(’\_‘_v_'_'__.v-"- - P!?
(B) 30 *\"1/ BN -
(C) 24 5 D sl % nu‘j,i— '
(I 5 E:f:lj L
al
21 senBedn aenug o v
Vi
[-'ﬂi:l 25 ; LY _.q-h' o
(B) 30 A L
(C) 24 o) 5
L
. a4‘}’\
Find the LCM of 156 and 124 ) A
o
(A) 8463 B A
(B) 3684 \\ &
156 whmib 124 =iélu cramasetian 5.8, srans. B \'!:‘L e
S
(A) 8463 (B) 3684 N o
T
(C) 4836 (D) 8346
If2:3and4: are equivalent ratios, then the missing term 1s
(A) 6 (B) 2
T R
© 4 q:?"q D) 3
2:3 wHmb 4 : ayfluenes SIS Aésrsa aefle, efBUCL
o miiy. 1\,.-———- i
a -\ da ¥y T
A) 6 (B) 2
&) r)}'?'i b. T '-'tf-j’
© 4 M) 3 ;
19 DJRE24
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79.

81.

Kk Award for the year “2024" was ay "

Nﬂlinnnllmkmﬂn}m Tila A ; S FTﬁﬂm.‘

= Ly ..._-._.r
A) Sudha Muri} ! M
:{“,l ﬁndr{:w-l’nllﬂrd D) underlal Bah

9024 b SpATaDETE “epflu Gersorew Hood chlms
i 7

(A) g QpiED g :t—ﬂf;:r
(C) e Qun@ent@® bt Ugm
Which is aft carrier? .
(A) INS Godavari (B) INSV‘H:I .

(C) INS Talwar (D) INS Brah
@pfuneen ed1 BT
T8 7

(A) INS Canzneufi

(C) INS ﬁd’ﬁmrrn'

India’s first home-built airer

g GGl ﬁu:_?l_!‘llﬂﬁﬁﬂuﬂ-l- s Eﬂf AL
|

AR

Who i< the first Indian to hit 500 st
(A) Dhom

(C) Virat Kohli

420 AfAGE 40 500 ElbaiEeaT SHgb5 (
@) ‘opral '
(C) eflgni Gamed

Who is the new Chiefl Minister ufTe]angana‘.i
{A) Chandrasekhar Rao
(C) Revanth Reddy

Qagusnennailer yfw apsoeufr wri?

(A) spdnCsat greu
(C) Cpaups Gy



82,

84

84.

The largest demoeratic country in the world is

(A) India (B) China
(C) USA (1) Canada

e @flCatu BstGuflu gemmus miE

(A)  Ehdun (B) fam

(C) =QuwfEsn (D) sewin

was established by the Justice Party Government for the
selection of Government Officials.

(A)  Staff Selection Board

(B) Public Service Commission

(C) Provincial Staff Recruitment Board

(D) Staff Selection Commission

s sflanfsmend Gatey Galu ——— Fs s flurd Bpetind L g ?
(A)  uesflwrert Cairey suniluib

(B) Qumgit vesfl syenemib

(C) wriled vesflwmert sy Qar@iy surflwibh

(D) vesflwrant GsraumaemuLb

was the original religion of Japan.
(A} Shinto (B) Confucianism
(C) Taoism (D) Animism
muuneflen Lieis g0 BuEib.
(A) eflanGLm (B) senfuduneiisnd
(C) snGeumidlsb (D) =efifsn

21 DIRE24

[Turn over




85.

87.

DJRE24 25

: is an Indian Scie
i wam‘nﬂthﬂﬂ 15 ﬂ-n. ] L
u Sambasivan 3 Revolution.

0. Mankomb iy

i : mindia’ls——
for his leading role in Indi (B) White
(A) Red (D) Black

(C) (reen

e e Al

i apenenaiils  UBKS
%ﬁ@nsﬂum L maLft. wnen@ambly

ambuleuer mmﬂﬁﬂﬁﬂf =

(A)  Aaiy (B) Geugmenin
(C) usaw (D) &moy

The organ that 18 affected by Corona

(A) Head (B) Leg

(C) Heart (D) Lungs
Qemyrennedlanmd unrdésliulL e L

(A)  gwa (B) a&me |
© @pus (D) menugeser

The thyroid gland is composed of two distinct lobes lying
side of the i

(A) Brain (B) Heart
(C) Trachea (D) Abdomen
asrmi@ syodunang), @1 @) LBepb L
EE)UILAETTE AOBEISTaTE. & 8

(A)  ppenandlen (

(C) qpéos @padlen

Ethanol is manufactured in industries by the

which is a by-product obtai . G e
sugarcane. ined during the manufacture of

(A) Fermentation . A
(C) Condensation g; g::ﬁl;::::gg
Qanfipsneaidd : Lt
?ﬂﬂmﬂ:ﬁnmﬁfgﬂﬁyﬁ“ sfleyls unﬂgﬂm
(4)  Gprdgza

Mk ®) w8 ;
C. LIMge)
© @eiiazza 0 seer



54,

80.

a1.

An angle whose measure is less than 90° §

(A)
(B)
(C)
(D)

Right angle
Obtuse angle
Straight angle

Acute angle

kb Eenpeunen Gamem ey

(A)
(B)
(C)
(D)

Qs Camemb
Bl M Gameantib
CriCansamib
SphGaTeEmD

Simplify the ratio 20: 5

(A)

(C)
u !

1:4 (B)

2:10 ()

f

s called an

21 : 5 erenp eAEskens araflu g el srds.

(A)
(C)

1:4 (B)
2:10 (D)

Simplify : (10417)+3

(A)
(C)

(A)
(C)

9 (B)
a (D)
S(REES [1D+L11?:r+3
9 274y (B)
3 (D)
23

2

- =

ererliLi (R,
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@ * The length of a rectangular ﬁeld xcee

L
9}\:

02,

93.

17 Fanin
b
d (A) 788 C\-hmh} &
(C) 708 & ity
¢ (D) 1408

Tt distaice bobween the origin and the point (=3, 0) is

@ -3 (B) 2
(Ccy 1 (D) 3
aPuyaalsgb (-3, 0) a0 Lereflé@th @G mmjja'mwfaﬁ
A -3 (B) 2
© 1 (D) 3

The cost price of 20 apples 15 equal to the selling price of |
the gain percentage is
(A) 20%

() 25%

(B) 30%
(D) 15%
20 myuGasefldr oL ks shlenalumens 16 %ulﬂquﬂdr iﬂ '
st erafles @amu sgelisb A
(A) 20%
(C) 25%

perimeter of the field is 295@1,
(Al T8 m
{C) 70m

Siflah ssQsdiaus e fosfear ahnerey EEE |.E|_L.1'!r ﬂﬂ%ﬁ.}



4 -

95.
96.
97.
98.
b 5]
\ (@
Y16
=
D

\.h?h“ 1-.|L’T.I ame th‘ ﬁl 31 # I “d'li I I 1 I:ll edal at the 2“3 ‘ aris
; an a C]'!E to win Dld m 24 I8
1 ﬂ'lﬂl}r[ plES. i I I i ]

m} Hlﬂrvinder Singh (B} Manish Narwal
(C) Nishad Kumar (D) Sumit Antil

gjﬁﬁflﬂ“ umyr gellib@sdd Hld dsempuln shal usssd Dadn WS

(A) eofehlbat S (B) wefcs mreaund
(C) Flagnk @uom (1) =l e

Wayanad land slides, recently in news, is located in which State?
(A) Kerala (B) Telangana
(C) Maharashtra (D) Karnataka

sBusfie  Qeifselid umtds awpr@ Hossfley  abs wnlegdd
SieniobEieTeTs) 7

(A) Csigemn (B) Qesnmistenn
(C)  p&mymEigyT (D) afpm_sn

Which country got the most Medals in the Olympies in 20247

(A) TU.S.A. (B) China

(C) Japan (D) Australia
2024 geflbids Cunligudld iflE ugsHD aunmdu BT 57
(A)  =Quflsst gsdu prEae (B) &anm

(C) gounen (D) = endlGredium

Which one of the following High Court Building is the second largest
Judicial complex in the World after London?

(A) Bombay (B) Calcutta

(C) Madras (Dy Delhi

e wilCaly Eean g =65 @rencnaig Quilu fisgmenn et
eTE 7

(A) wbumd (B) =sdssan

(C) Guigrey (D) @i cuell

25 DJRE24
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————————
Cattabomman Was hanged at

on, Veera Pandiya |

. : B) Kayathar
(A) Sivagangal (B) y
i".} Tiruppathur (D) Panchalam Kurichi
(L ru

@B L melig. L GumbLoel g,]ré.ﬁmﬂl_m_n‘_t_ @b
(A) Hleuanens (B) sWHS1H
(D) umgpameumbi@blEs

(C) Bmuugg

100. Who was the founder of Ramakrishna Mission?

(A) Swami Dayananda Saraswathi

(B) Swami Vivekananda

(C) Annie Besant

(D) Raja Rammohan Roy

@rrodmegeann Wasenan e (reulsSluieui wri?
(A)  seund swrenhs Freveud

(B) seumil eflCeusnenpsi

(C)  ieinel Quisens:
(D) @U"El]ﬂd} Guonser g

101. An example of Chola architecture can be seen at
(A) Kannayiram (B) Uraiyur
(C) Kanchipuram (D) Thanjavur
Cenpiiseilen &0 1| ssmassar T(HSHEET anL ETEI(E, SMERTEUTLD 7
(A) samemmullyis (B) o enmyy
(C)  angpdlymo (D) sersnaym

D.JRE24 o



102.

103.

104.

105.

Chloroplasts are —— plastids,

(A)  green (B) blue

(C) white (D) red
HplSlseea anenfder saflan Lsmsatsb.

(A)  ubsms (B) feo

(C) Qessranen (D) Aauiiy

The deficiency of insulin causes

{A) Cancer (B) Tetanus

(C) Diabetes mellitus (D) TB

Blensdlen snulld @@mpun® ghufeustd e Taug ——
(A)  ubmGEmi (B) QL emehy

(C) Lwruesn Gl e (I &ns Gemd

An Amalgam is an alloy of —————— with another metal.
(A) Mercury (B) Tree

(C) Soil (D) Stone
@rssswmal adugy ———, eCansb Coips swmeauuirEib.
(A) unggsih (B) wmb

(C) ioa (D) &b

gas in the air that we breathe is made up of two oxygen atoms
chemically.

(A) Oxygen (B) Nitrogen
(C) Helium (D) Sodium
prib sanflsEb snphle e den ——— aunyeinarg), Ceudl'nSeneminfanmd
Beanhs Gran® afiged sgnssaa o (meundlmg.
(A) na&dlgen (B) enpligmen
(C) gbeilub (D) Gsnguwib
27 DJRE24
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1,CM) of 904 and 156 1s

(A) 7304 (B3) 1326
e wle i
(C) 2652 (1) 3972

106. The Least Common Multiple (

ar Befig Gunsl oL@ (15.8.10.]

(B) 1326

5304
flli:;.]l ;EEE (D) 3972

204 LoHmib 156

107. Which of the following is a leap year?

(A) 2025 (B) 2026

(C) 2028 (D) 2030 o=

QéneupreTaippier a8 S e (0 [GL’J"—L-"WG‘“L % _JL:I_E-\—:—"-'

(A) 2025 (B) 2026 8

©) g@fﬁ"’ t ®) 2050 L_:I,/
108, An equivalent ratio of 4 : 518 q ]

(A) 1:5 (B) 8:5 qM'K‘.Q.-

(C) 7:8 (D) 12:15 rq-q—ﬁ:"'

4:5 @en swren dlfswonang) 9.2\

(A) 1:5 (B) &:5 fﬁ"ﬁr}—’

(C) T7:8 (D) }2': 15

G

109. If two ar‘!gles of a triangle having measures 55° and 45° find the measure
of the third angle.

Ay 70 e
& (D) 80°

g (pabarangda Fye e . :
QpeDie s G&nﬁﬁ@%u &E{?mﬁﬁﬂsﬁrr&taaﬁm Siara|sdr 55° whpb 45 erailed,

'? o
:2; IED" (B) 90° 3 Ef
{D} Eﬂﬂ L
50

DJRE24 . ’



110. Right to freedom of religion is related to

1Rk

112.

113.

(A) Judiciary
(B) Parliament

(C) Directive principles of State Poliey

(D) Fundamental rights

swws sabHT o fen aagier OFmofyamwg

(A) 595 mep
(B) ummepwenmib

(C) =& Gpflpeapupbsind Gardras

(D) wigluueL e fenss

The North-East Monsoon period in Tamil Nadu

(A) August — October
(C) October — December

(B) September - Movemhber
(D) November — January

sllipesfd el SpsEl Lma e QumBluyb wrghiser.

(A) s — H&Cmud
@} SEGLMUT — igSDUT

[B:l @5 bl — meubld
(D) meubui — gpereufl

An Indian citizen has the right to vote at

(A) 14 years (B) 18 years

(C) ~ 16 years (D) 21 years

Brfus @y lossaien aunsEfewssne allig

(A) 14 (B) 18 Q__,,_.
(C) 16 (D) 21 oM ‘fh'b
A day has {(ﬁ:";

(A) 1240 minutes
(C) 1440 minutes

G BEsE® SThpan HbLLEd?
(A) 1240 HiSlL e
(C) 1440 6l rusan

29

(B) 1340 minutes
(D) 1140 minutes

(B) 1340 Hiflriser
(D) 1140 Bl _rusen

DJRE24
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118.

110!

120.

P(E)=0 then K i known e an
(A) impossible event (B) sure event

(C) possible event (D) likely events

P(E)=0 aefles E ereirigy —— ayain, )
(A) @uen Bapsas (B) e pdlunen flapss

(C) Bugib fspsd (D) swasminiy Hapssl
Loss or gain percentage is always calculated on the

(A) cost price (B) selling price

(C) discount (D) marked price

BLL mdeg @erub  ssdsb  auGumgn ———  8Gs
SemTdsehl L 1L (L.

(A) =L &scllaa (B) &flhm efency

©) sen@sis D) @Nss Haw

The sum of three angles of a triangle is

(A) 180° (B) 360°
(C) 90° (D) 45°
G p&Carensdlen apeny Canemmisailen &[5
(A) 180° (B) 360°

(C) 90° (D) 45°

DJRE24
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=

wieilwed L

MNone of the above

(C) Straight Jin
gofl etGungib (Al

(A)  eupaupliLines Lig FTTLILITET L t
(C) CoisCaniigd GLoh o iy
Which of the followin be caused ¢
{(A) Irritation

(C)  Nervousness

Benssand e huBleug eTE?

@) cfibec

(C) uslib™

TN T e, 1L
{13} mnee and joint

"’:' LW ‘-=-"I<'.__F_.'='-.'_.'- and upper jaw

LR T e
25 SENF LT S GL.




143.

134.

135.

136.

The liguid metal used in thermome

terjg————"——
(A) Copper (B) Silver
(C) Mercury (D) Gold
Gauufleannelsefa UwetuBsscu@t dra o Cansn
(A) sl (B) Qauscrefl
(C) ungnsb (D) grsb

Normally gestation period of human last for about

(A) 150 (B) 360

(C) 280 (D) 500
Gungieuns wallsfla smiu srob — BrETEeTTSHLD.
(A) 150 (B) 360

(C) 280 (D) 500

The heart normally beats —— times per minute.
(A) 72-75 (B) 60—65
(C) 50-55 (D) 40-45
Beuvren g® FUlll DG —— qpan Husilng.
(A) 72-75 (B) 60-65
(C) 50-55 (D) 40 - 45

The ‘universal solvent' is

(A) Acetone (B) Water

(C) Benzene (D) Alcohol

&freud sepyliLme eremiiLi(pieug

(A) A CLnen (B)

(C) Quenéen (D) =osamme
35

dayvs.
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% 15.24+25.Ig‘]? is 22, then find th,

plic mean of 21,30,

137. The arithm
value of ¥ fi ‘ﬁ; A.L{D
(B) 21 E-ih ﬁ

(A) 22 /‘ ‘
\ ) 17 (D) 26 \ggl y* '*P}__
61 | E
o4 21. 30, x, 16, 24, 28,18,17 oy Bwscupple i) sefl 22 eretiled x o wdiy
,—-:_1,"' 21, 30, x,
n-&
e (A) 22 (B) 21
“',qu " i _'ll_.sjl_-—:ﬁr;i'}.ql
—1C) 17 (D) 26 T
VAl 2
;_(EE, If & Company pays Rs.10 lakhs for 12 workers for 15 days, how much
S vould it need to pay for 8 workersior 18 days? "J!"L ]PIU?
(A) Rs. 8 lakhs 6\
1'- fu;
PR

(B) Rs. 12 lakhs < *z/@
WA

(C) Rs. 10 lakhs ”g ',_/&;."‘IEEEEP
O poee

(DY Rs. 6 lakhs 2 ? ;ﬁnﬁﬂﬂl
ﬂ%’j/"" t

G fpeaworaig 15 presgssg 12 CausaunaaEnss o 10 Ele s
Qerevsew  safwors  aphedps el  splnoasdng 8

CamaundsensE 18 BIasEhsg afUnns upms aaeaap Caras
q? Gmaney 7 |
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138.

140.

141.

142

I 1% of GOO 18 450, then find the value of x

P10 (B) x= 65
(© x=0 D) x=1 wush
0@en x% aanug 450 aaflo, x én wAL@UE srdns. oo ! SN Al
(A) x= Ta (B) *x=65 < ,.i\'#
€ x=0 D) x=1 b“”‘”ﬁ
Find the simple interest Rs. 25,000 at 8% per annum for 3 years.
(A) Rs. 2,000 (B) Rs. 6,000 ("
(C) Rs. 7,000 (D) Rs. 2,500 ‘}.S-c:f;f'
. 25,0004 8% e[ ey dipb 3 geanpsErsEs pallay aTaEns. _}@ Z
4) Rs. 2,000 %
(A) (B) Rs. 6,000 cﬁ"'+ 'ﬁ-’é’
(C) Rs. 7,000 (D) Rs. 2,500 3%
by

: . cE>a%
The mean of the data 12, x, 28 is 18. Find the value of x. 959 "™~
(A) 18 (B) 16 A
(C) 14 (D) 22
sraser 12, x, 28 8w graysallen synedl 18 eTefiley, X o wHlenLs smelr.
A) 18 B) 16
(A4) (B) fol 18 2
© 14 D) 22 1 A

Tk

Discount is subtracted from ————— to get S.P. Hor = <
(A) M.P. (B) C.P. = s
(C) Loss (D) Profit
SET(EHLIg WIS dmps  sPssoul@ dpuee  dlew
QupiuBSng.
(A) (@fhss eflea (B) =isascilana
(C) pLLbd (D) Gemub

a7 DJRE24
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1 2 1 , TN T
~+ (Generation Ir::-g}a_mrnr:- (PMEG
e Ministers .Emf I?g ;n;;f; by which Ministry? '-
in the news ;
rban Development
hour and Employment

143. Prim istared
recently seen
(A) Ministry of U
(B) Ministry of Lab
Ministry of Agriculture s B oo

(C) _
ni Small
(D) Ministry of Micro, e E |
; apd fludlesn Camemmiiy pELpED Hin’ (PMEGP) o,
digguw L I z
.-ﬂl?:'n".m;u_lnci.l fﬂfwﬂéﬁuu@gﬂﬂ ?
: AU E S@DESSLD
A) mETULD el Lk :
:;J .I -I Gosmarit wHmLD GeleaRTEEL SienLnFEsLD
¥ o TR el [ L
::-].:I B ¥ -“_-::._=.: i_!'_.]g-;m,lﬁﬂ‘ﬂlﬁiﬂﬁm 5| ILDFSHLD

blished a special fund to save purple frogs in the

@1. Which State establisl
Western Ghats?

(A) Cdisha (B) Kerala
(C) Karnataka (D) Tamil Nadu
Nope QprLiss s seueersener sruurhp oty B8 essdy
inmflepth erg
(A) Gusn (B) Cagernm
(C) stmisn (D) sblpErE
145. What is the major electricity generation power source in India?
(A) Coal {B) Gas
(C) Nuelear (D) Hydro
Bigunesld Blasnmd e pusd Celud apadly HsTD 87
(A) © Dasafl (B) - erfleumuy

(C) =gplen Reauwib (D) dmflelr Bleneuisid

146. Si_uikhurl Dhawan, who recently announced his retirement, is associated
with which sports?

(A) Hockey (B) Football

(C) Cricket (D) Tennis

silLsdld [

Qﬁﬂﬁqﬂﬂ&;ﬁﬁﬂﬁ ?gum 2fleilss afsr gauman, erhs  ellenemuni(Hen
(A) anrsd B i

(C) Af&Qsc :[:D:; ;T;jﬂ@siu

DJRE24 e
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147.

148.

149.

Rabies 18 a fatal disease which s transmitted by the bite of the infected
R ——

(A) Dog (B) Bird

(G Man (D) Fish

ﬂmﬁ ﬁ“u_lmlq- @Euﬁ“—l th@ﬁfﬁ St il C!Elrl..l. @ﬂ‘ S A ﬁi.[".l.l'..'l'ﬁéT
ppeions Lreidlng,. > LIS

(A) pmo (B) upeas
(C) wafgen D) Ban

15 essential to perform winnowing activity.
(A) Rain (B) Soil
(C) Water (D) Air

gnppisS eren Qewame fspss Jdepaaappes — sl
GaeeuiuBdpg.

(A) wveyp (B) weiw
(C) & (D) &nmy

involves the artificial rearing or cultivation of earthworms

and using them for the production of compound from natural organic

wastes.
{A) Vermicompost (B Artificial
(C) Grains (D) All the above

sl Quimetseer warywsser SegaueLws Cdelaustd o GeNEGD
Quatenwrar, gisar Cureny &fieyl AQunasGar ————— oy eraniiu@b.

(A) weawr Y (B) Gswpens
(C) wlr (D) Cupsmbly senendsib

39 DJRE24
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(B) Sarcophagus

Vi 1fication

What was occupation of

(A) Plundering

(B) Cattle rearing

(C) Hunting and gathering
(D) Agrniculture

Ehliend Hleoviuguila ambhs U
(A) Gsnareneuig s

(B) =feny Cuiissed
(©) CareLwur@ss whmb CssNssH:
(D) CGasmnamenio

52, The First General Elections after I
. i |

(A)  1948-49 (B) 1951-52

(©) 195253 (D) 1947-48

1081 Ea
1951-52

(D) 1947-48




- »eity which 1s en vl s =
164 e Gi) lled as the :'-]i]ﬂi'hl'.‘-;!i‘l' of South India is

(B) Salem

(D) Coimbatore

(A) Chennai
(C) Madurai

QaeraipAwuinellen wren@aail fr e
B 'rb‘é] oL ¢ enm =MD &ELILI (R mETLH

(A) Geerenen (B) CGraun

(C) wgmeny (D) Garwuibuszm

154. Who is the new captain of Chennaj Super Kings?

(A) Ruturaj Gaikwad (B) Deepak Chahar
(C) Jadeja (D) Kedhar Jadhay
Glrenenen @ULT & xemflud an uflw Calier wimi o

(A) @gng Qswsan (B) Sus snamit

(C) gGLgn (D) Csst mrse

155. Which state has the highest number of Ph.D. holders in India?

(A) Karnataka (B) Tamil Nadu

(C) Bihar (D)) Rajasthan
Bppunehles axdls 19.61é.1q. (Ph.D.) UL grflser o drer wrblab ez 7
(A) sTET_&ET (B) sdlipmn(

(C) Sanmt (D) grmevgmen

156. Income Tax isa

{A) Direct tax (BY Indirect tax
(C) (A) and (B) (D) Degressive tax
aymwrer cuifl eremLg
(A) Coiraps eufl (B) wenpaps sufl
©) (A) wpmo (B) (D) sfiley oS5 eufl
D 41 DJRE24
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160, The pH value of pure water j5

(A) 5 (1)

e 7 (D)

Ew e pH w@iiy — ShHLD,

(A) 5 (B)

) (1)
161. In ,» We have nuclear power

Kudankulam.

(A) Andhra Pradesh (B)

(C) Arunachal Pradesh (D)

MlenaniLfISET SHenLnhaidTaTen.

(A) wpdy ICsepfa (B)

(C) memnése QnCsssa (D)
162, Spectrum consists of colours.

(A) Seven (B)

(C) Nine (D)

Hlpomen ey wimeTg)

(A auw (B)

(C)  genug (D)
163. The ‘Power House' of the cell

(A) Cytoplasm (B)

(C) Cell membrane (D)

Qaddflen yhme) enowid

(A) e CLr Semmad (B)

(C) G seuey (D
D 43

]
e

=r]

stations, in Kalpakkam and

Uttar Pradesh

Tamil Nadu

» BDUTESD WHMID saLmigend mdu Glren( @ kisafls gl

2 510 AnCaegdled
AL (SRECY

Eight

Ten

cuEmehEeNeTs GlEmen(Hareng.

e (i
Ugal

Mitochondria
Chloroplast

enwn G smegmig fuwin
gt semtl LD
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'.  Which of the fn]]bﬁﬁg_.’ Palayakkarar @
against the English rule —_—

(A) Puli Thevar
(C) Yusufkhan

Geneumid HAPHTH LeneT
perGenmg wneneut —— 7

(A) pedl Gaeul
(C) wslsnen

Where was the anti-Hindi confe

{A) Erode

(C) Madras ffﬂ ]
@pf c@niy wipn® ewls ml—ﬂﬁ@ﬁﬁm*
A) mGmE :
(C) Qsanene

.......

lalore
£ ﬂ‘{ 5



of % triangle having measures 65* and 357, find the Asasure

® o

iy «r-

o $Csrmpfic Grars Cararvscs Sramd 657 opgh 15" e,
® 70 o
(D) oor




